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117 entity jifei is=s

118 port{ clk2:in std logic: ——1t+EBIEzh{E =
119 start: in std logic: ——HEHIFES
120 cl,cl,c2,c3: buffer s2td logic wector (3 downto 0)):

1321 end jifei:;

a5 entity jiliang is

66 port( s: in std logic: ——HEFiRiES
&7 fin: in std_logic: --BiEFAES
BE stop: in std logic; --EH#=S
&9 clkl: in std logic; ——-1HEBiEzhiE =
70 enl,end:buffer std logic; —1HEHEHIERIES
71 kl,k0: buffer std logic wvector(3 downto 0):; --B3F it
T2 ml, m0: buffer std logic wvector (3 downto 0}}:
T3 end jiliang;
33 entcity fenpinzZ is
34 port ( clk 500 :in std logic; ——HE X sooHzZ /18T Bh
35 clk 20: out std logic; ——HNEE Az osz /N8 Fh
36 clk 25: out std logic: ——#0EE M2 sHZFIET
37 clk 1: out std logic); ——HEE A1 HZ RVAT 5

28 end fenpinZ:;
150 entity kongzhi is

151 port (entl,entl:in =std logic: -—Hi AR REES
152 clk inl:in std logic:; — i A B

153 clk in2:in std logic; it TN

154 clk out:out std logic); —— i o B

155 end kongzhi:;
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s B
172
s B
176
s B
178
115
130
181
182

entity Zong is

port { clk 500 :in std logic: ——SOCHZMEHI A ES
start :im std logic; -—-1HiiHigES
stop:in std logic; --EFES
fin:in std logic; --BREHMES
cha3, cha2, chal, cha0:buffer std logic_ wector (3 downto 0); =R TR
kml, km0:buffer std logic_wector (3 downto 0); --BE+HET
minl,mind: buffer std logic vector (3 downtao 0}}); ——ZE55R7 gt #n

end Zong;







Name
§ di2 Ipigigipigigipipipiy
N i A e
8§ cor3:0] &8 560686060608 868066006 EBEBII
By c1[3:0] |
B c2[3:0]
g c3[3:0]
Name
__., 5
& fin
@ stop
& clil
EJ enl
\:.; enld
B 130
8§ kors:0] 0 _:--:_-_-:___E
= mi[3:0] z T ———— e — —— T e ——
5§ mor3:0] - _,-.__.-._E_;.i



Name
Ug ento
,3 entl
U$ clk_in1
U@ clk_in2
@ clk_out




ame

1% clk_s00
-U_r start

Un stop

1 fin

B cha3[3:0]

B cha2(3.0]
B cha1[3:0]
B chao[3.0)
B2 kmi[3:0]
B kmo[3:0]
B mini[3:0]

Bg min0[3:0]

150 (f ) =50+ (7-3) *25+0



1l clk 500

] §¢: start

16 stop

1% fin

p B cha330)

p B cha2(3.0)

» B chai[3:.0] g
>
p B4 kmi[3:0) 1
L N ER)

» B min1[3:0]

» B! min0[3:0]

555 (/) =50+ (12-3) *25+ (16-2)*20
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g Clk_S00
start
stop

; fin

Y cha3[3:0]

cha2[3:0]

¥ chao[3:0]
e kma[3:0]
& kmO[3:0]
¥ mini1[3:0]
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11}, entl

1 clk_in1

-H;, clk_out

i clk_inl_period




Name
@ cli_s00
@ start
§ stop
@ fin
cha3[3:0]
By cha2i3:0]
B chal(30]
By chaog3:0]
B k130
B kmo[30]

B min1{3:0]

&g min0[3:0]
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.:r entl
M Clk_lnl

iy clk_in2

e clk_inl_period i 80 ns ~60 ns 40 ns =20 ns ‘0 ns 20 ns 40 ns | |
r 1% = I 1111
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begine
if clkl'event and clk1="1'then  ; AiGTIH] k1 FTHEE A
if s='0" then «
w<=0:en1<="0':en0=="0'm 1<="0000" ;1]1{}<—"DDDD" 1<="0000" k0=="0000"
els[ if stop="1"then B et RS
if w=39 then w==0; o
if m0="1001" then m0<="0000": ”
if m1="0101" then m1=="0000"-
elseml<=ml+1+
end if:+
else mO==m0+1:+
end if: ;TR
if m1&m0="00000001"then enl=="1" ; ZFAE]FTT 2mi
else enl=="0'"; 1Z& enle
end if:+
else w==w+1.enl<=0"+
end if+
elsif fin='1' then ATHI ARG
if k0="1001" then k0=="0000"; =

if k1="1001" then k1=="0000"«



RS RE

) [REEE
begin.

if clkl'event and clk1="1'then ; AFA)ITIN clk1 X+ ERIPAIIK:
if s='0' then «
w<=0:en1<="0":en0<="0'm 1<="0000":m0<="0000"k 1<="0000"k0<="0000""
els[ if stop="1" then s T BT RARE

if w=39 then w<=0; o M
if m0="1001" then m0<="0000"; ¢
if m1="0101" then m1<="0000"; C I k 1

elseml<=ml+1:+
end if:¢ .
else mO0<==m0+1:~ fl n
end if: i FERRERFHET.
if m18&m0>"00000001"then enl<='1"; ; FEHFAJ[B]AT 2mi
else enl<='0"; 128 enle
end if;+
else we=w+1:enl<='0";¢
end if;«
elsif fin='1' then ATRR IR AR
if k0="1001" then k0<="0000"; o
if k1="1001" then k1<="0000"¢




(RS Rk1E

© BER

. 76
+

gﬁl'wm and ck1='1'then  ; AFAH k1 A HERBGE ]

if s='0' then ¢ 79

w<=0;en1<="0";en0<='0"m1<="0000":m0<="0000"k1<="0000"k0<="0000"; g

els[ if stop="1" then s TR BT ARG g1

if w=359 then w<=0; ¢ 82

if m0="1001" then m0<="0000"; o 83

if m1="0101" then m1<="0000";+ 84

else ml<=m1+1:v 83

end if:v 2:

else m0<=mO0+1~ 88

end if; s SRk rETEle aq

if m1&m0>"00000001"then en1<='1"; ; FEFAIEAT 2mi o9

else en1<=0"; {Z8 enlv 91

end if:v 92

else we=w+1:enl<='0";v 93

end if:¢ 94

elsif fin="1' then ATIRIHE B4 22

if k0="1001" then k0<="0000"; o gf';

if k1="1001" then k1<="0000";+ o8

99

00

begin
process (clkl,s,stop, fin, k0, k1, ml,m0)
begin
if s='0' then
w<=0;enl<='0"';enl0<="0";mi<="0000" ; mO<="0000"; k1<="0000",

elsif stop='l' then
en0<='0";
if clkl'event and clkl='1l' then -—-FFHIRAFRTE
if w=60 then w<=1l;
if mO="1001" then m0<="0000";

if m1="0101" then ml<="0000";
else ml<=ml+l;
end if;
else mO<=mO+1;
end if; -~ e RRE A

if mlsmO>"00000001"chen enl<='1';enl<='0"' after
else enl<='0"';
end if;
else w<=w+l;
end if;
end if;
elsif fin'event and fin='1' then T HEF IR
enl<='0"';
if kO0="1001" then kO0<="0000";
if k1="1001" then ki<="0000";
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= 35 entity ss is

o “ 36 Port ( clk : in STD LOGIC;
41 architecture Behawvioral of == is — 37 s : out STD LOGIC:
42 =2ignal sn: integer range 0 to 20; 3g v : out S5TD LOGIC):
43 begin K3 38 end =s;
44 process(clk,sn) e 40
45 wariable wvn:integer range 0 to 20; A 41 architecture Behavioral of =3 is
45 begin % 42 =2ignal =sn: integer range 0 to 20;
47 if{clk'event and clk='1"'}then 43 begin
48 sn<=sn+l;vn:=vnt+l; A 44 process (clk, sn)
49 if{sn=3)then ** 45 +variable wn:integer range 0 to 20;
50 s<="11"; — 46 begin
51 Blae ga=tgty @ 47 if({clk'event and clk='1'}then
52 end if; 48 if(sn=3)then
53 if {vn=3)then —_— 49 s<='1"';
54 we=11"; 50 else s<='"0";3n<=s3n+l;
§g else w<="0"; caeend if;
5E end if; 52 if (vn=3)then
57 end if; 53 wv<='1';
Sg end process; 54 else v<="'0"'";vn:=vn+l;
53 55 end if;

568 end if;

57 end process;
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1R clk_period

s

1% clk_period 10000 ps
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